@ 3x%+3xy+y> @ 3x2+6xy+y> @ 9x% +3xy +)?

(@)9x2 +6xy+y2 ® 9x2 4+ 9xy + 2

(Bx+y)? = (3x)2 +2x3x Xy + y?
= 9x% + 6xy + y?




(5x = 2y)? = ANSHA ax? + bxy + cy? ek, ol A= a, b, ¢ 9
Sa+b+cY F2?

@ -2 @ 2 ® 5 @9 ® 13

(5x)2=2x5xx2y+(=2y)? = 25x%—20xy+4y? °|B2 a+b+c =
25+ (-20)+4=9
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@ (a®-3a+2)m? ((@(a2 + 3a + 2)m?
® (a®> +2a+1)m? @ (a® - 4a+ 4)m?

® (a®+ 6a + 9)m?

Loyt sjeke] 7429] o] (a+1)m , A22] 4ol (a+2)m
wabA sfeke] Hol (a+ 1)(a+2) =@ + 3a+2 o]t
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ohg DA A 2R Hol g x, y o]
et Ao 2 vp2 A el 2129

@ (2x+2y)(3x +y) = 6x2 + 8xy + 2y2

@ (2x-2y)(3x +y) = 6x% — 4xy - 2y
@(2x +2y)(3x —y) = 6x° + dxy - 2y°
@ (3x+2y)(2x-y) = 622 + xy = 2

® (3x—2y)(2x +y) = 6x2 — xy — 2y?

_--2X--__ 2y

~&B

At B10] 7129 dol= (2x + 2y),
A=) dol= (3x—y) °Ith

weba] AR BE O] Wol=

(2x + 2y)(3x —y) = 61 + 4xy —
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(x=y+2)(x+y+2z)5 AMH7] Asl 7HE

O {(x+y) -2} {(x+y) +2}
@ {(x-y) -z} {(x+y) -2}
@ {x-0+}{x+0-2}
@{(x+2-y}H{x+9+}
® {(x-2) -y} {(x-2) +y}

1g=1g
=

(FAR A= {(x+2) -y} {(x+2) +»}
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(Cesdy) =ar +hay+ 02 @ 4% 0, b ol Hh5tol d(a+b)

@ 25 @30 ® 35 @ 40 ® 45

B ~
(3) +2xgex(3)+ ()

25

——x2+§x —i—i .
T 497 16”7

25 5)
L Ala+b)=4(2+2) =
(a+b) (4 1) =30
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(Bx-a) =92 +24x+b LW, a+b G2 (H a, b=

@ 2 @ 4 ® 6 @12

® 18

B

(3x)2 —=2x3xXa+ (—a)? = 9x? — 6ax + a® O|BE
—6a=24, a=-4

b=a>=16

" a+b=(-4)+16 =12




(Br—A)2 = 92 — Bx+ 9 & T, 4, B o] AT AA4E A2
el

@ 3,3 @ 3,9 @3,18 @99 ©®918

S5 ‘
(3x)2 =2 x 3xx A+ A2 = 9x> — 6Ax + A% 0| B2

A2 =9, A=3( AL AAS)

B=06A=18

~A=3, B=18




10. (2x-8)(3x + 7)= Z7H5HH 6x2 — (3a + 1)x — 4b ©]t}. o]uf, A==
a, b2l & a+b o 27

@ 13 @ 15 @17 @ 18 ® 20

B

(2x - 8)(3x + 7) = 6x% — 10x — 56
=6x2 — (3a+ 1)x — 4b ©]t},

W2t 3a+1=10, 3¢a=9, a=3,

—56 = —4b, b =14 9|2l a + b = 17 ©|t}.
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+Zx——
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12, 3 (204 1)2 4 £ (6x-+5)(2x—3) & AANAA x o A5E?

11 10 8
® 4 -2 @7 o3 o

B

x O] ARt Lol B, (—2x + 1)% oA x O A= -4, (6x+
5)(2x — 3) oAl x & Alg+= -8 |t}
webA] 9 AN x o AgE (<3 ) x (-4) + 3 % (-8) =

8 10
- —_=__0
6- 5= °lt
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13, (x—y+2)(x-y-3)& AAsk=d) 7Py 44

@ix-»+Mx-9-3 @ (x=(+5)x—(r-3))
® {(x+2) - yH(x=3) -y @ {x-(y+2)H(x-y) -3}
® ((x—y) + x— (- 3))

AL ((x-y) +2H(x—y) - 3} 22 FOl A x -y = 1 2 X5}
ANt Ao] 7HAF A A5}t




14. (x—-4-y)(x—y)E AN AL2?

D x*—y?—4x+4y —xy @ x*+y? —4x+4y+xy
(@)x2+y2—4x+4y—2xy @ x? —y? —4x—4y+ 2xy

® x2+y? +4x+4y - 3xy

=x? - 2xy +y? —4x + 4y




15.
(x+1+2y)(x+1-2y) 5 AT AL29

D x*-2y-4y*+1
@ x*—4xy+1
® x?2-2xy-4y?+1
(@)x2+2x—4y2+1

® x*-
¥ -2x+4y? +1

~&B

x+1=r2t 3k
(_x+1+2y)(x+1—2y)
= (t+2y)(t - 2y)
=12 — 4y?
=(x+1)?-4°
=x>+2x-4%+1




16.

x+y=5x>4+y> =13 4 o, xy o] F2?

® -6 @ -12 ® 4

@)6

® 12

~&B

(x +y)? = 2% 4 2xy + y?
25 =13 + 2xy

2xy =12

T xy=26




17, (-2x+5y)(2x+ 5y) - (%x—k 2y) (%x— 2y

4 4
@ —§x2 + 29y? ©) —§x2 + 16y?

37 9 37 9
@ —g X T2y @—Ex + 29y

B
~(292 + (5 - {(%) - (w}
= —4x? 4+ 25y% — $x2 + 4y?

= —%xz + 29y2




18. (x-3)(x* +9)(x + 3)= A75tH?

D x2-9 @ x?-81 ® x*-3
@ x*-9 @x4—81

(x=3)(x+3)(x>+9) = (x> -9)(x2 +9) = x* - 81




19, (x—-2)(x% +4)(x +2)2 AA5HA?

D x2-16 @ x*+4 ® xt-4
C@)x4—16 ® x*+4

(x=2)(x+2)(x>+4) =(x2-4)(x> +4) =x* - 16




20. (x+3)(3x-4) =3x> +Ax+BL f, A - B2 = FahH?

O 12 @ 14 ® 15 @ 16 @17

(x+3)(3x—4) = 3x? + 5x — 12
A=5, B=-12
S A-B=5-(-12) =17




21.

the 133 Zo] 7k, A2 o] Ao)7} 7x , 4x 91 A oA 71E 9]
Zol 3 ¥ Eolal A2 9] ol 1 ¥hF &%t o] of, Mg
AR €] wlo]=?

,—"7$‘~\\ ’3\

® 20x2-5x-3 @ 20x*-5x+3 ® 20x% +5x-3

@28x2+5x—3 ® 28x%2 +5x+3

(Wol)= (7Tx+3)(4x—1) = 28x%> + 5x -3




22. v J"A AR F2 o] wWole?

--=Q-~__ .b.

- ~

--—-Q -

@ (a+b)? =a® + 2ab + b*
@ (a-b)?=a®-2ab+b*
@) (a+b)a-b)=a®-p?
@ (x+a)(x+b)=x*+(a+b)x+ab

® (ax+b)(cx+d) = acx® + (ad + be)x + bd




@ (x4 a)(x+b) = x>+ (a+ b)x + ab

@ (x+a)? =x*+2ax +d?

® (x-a)? = x*-2ax +a?

@ +a)(x-a)= 2 -a?

® (ax+b)(cx +d) = acx® + (ad + bc)x + bd

A FA1E 0]-85t0] 14.98% 15.02 = A4S 1L
o|-&5t7] Mt HA FAS 1=2H?

B

14.98 x 15.02 = (15 - 0.02)(15 + 0.02)
= 152 —0.022
= 225 — 0.0004
= 224.9996

2tA (x4 a)(x —a) = x2 — a® & AFRRITH




24.

® 912 > (a+b)? = a® + 2ab + b?

@ 597% - (a-b)? = a® - 2ab + b*

® 103% - (a +b)? = a® + 2ab + b*
@)s84x75 > (a+b)(a-b) = a® - b?
® 50.9%x49.1 - (a+ b)(a—b) =a® - b*

ol-&

@ 84 x 75 = (80 +4)(80 - 5)
(x+a)(x+b) =x*+ (a+b)x+ab




25. E]_oz:'_}d] 5'_/\1 (x+a (x+b) :x2+(a+b)x+ab§0]—g—3]-‘§ﬂ
A7 o 71 ®alst AL9

O 992 @ 1022 ® 73 %67

@ 98 x 102 ®)101 x 102

101 x 102 = (100 + 1)(100 + 2)
=100%2+ (1 +2)x 100 +1x 2




26. x+y=9, xy=3<¢m, x*+y?—xy 9 32?

@ 52 @ 56 ® 60 @72 ® 80

2 —xy+y® =(x+y)*-3xy
—92_3x3




27. 2(4+2) (42 +2%) (4424 (4B +28) =40 -2 A o), A a, b9
a+bo 27

@ 2 @ 4 ® 16 @32 ® 64

B

2=4-20]B2

(4-2)(4+2)(4% +22)(4* + 21) (48 + 28)
= (42 - 22)(42 + 22)(4" + 2%)(4° + 29)
— (44 _ 24)(44 + 24)(48 + 28)

= (4% - 25)(4° + 2°)

— 416 _ 916

La+b=16416 = 32
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@ab @ 2ab ® nab @ 2nab ® ra’b?
a
b=2r(r+ 5) = 27r + wra = x(2r + a)
o5 2ol Yol § 2 o
S =n(a+r)?-nr?
= n(a® + 2ar +r? - r?)

na(a + 2r)
a{n(a+2r)}
ab




